

## UNITARY ANALOGUES OF A GENERALIZED NUMBER-THEORETIC SUM

TRAIWAT INTARAWONG AND BOONROD YUTTANAN

**ABSTRACT.** In this paper, we investigate the sums of the elements in the finite set  $\{x^k : 1 \leq x \leq \frac{n}{m}, \gcd_u(x, n) = 1\}$ , where  $k, m$  and  $n$  are positive integers and  $\gcd_u(x, n)$  is the unitary greatest common divisor of  $x$  and  $n$ . Moreover, for some cases of  $k$  and  $m$ , we can give the explicit formulae for the sums involving some well-known arithmetic functions.

### 1. Introduction

For a finite set  $X$  of positive integers, let  $\sum X$  denote the sum of all elements in  $X$ . For positive integers  $k, m$  and  $n$ , define the set

$$(1.1) \quad R_k^m(n) = \left\{ x^k : 1 \leq x \leq \frac{n}{m}, \gcd(x, n) = 1 \right\}$$

and let

$$S_k^m(n) = \sum R_k^m(n).$$

The formula for the case  $m = 1$  and  $k = 1$  can be found in [2] and the formula for the case  $m = 1$  and  $k = 2$  can be found in [1, 7]. For the cases  $m = 1$  and 2 with any positive integer  $k$ , the explicit formulae for  $S_k^m(n)$  were given in [4] by N. R. Kanasri, P. Pornsurat, and Y. Tongron. Later in [5], N. R. Kanasri and Y. Tongron proved in general that for  $n > m$ ,

$$(1.2) \quad S_k^m(n) = \sum_{d|n} \mu(d) d^k g_k \left( \left\lfloor \frac{n}{dm} \right\rfloor \right),$$

where  $\lfloor x \rfloor$  is the largest integer less than or equal to  $x$ ,  $g_k(n) = 1^k + 2^k + \cdots + n^k$  and  $g_k(0) = 0$ .

In this paper, we work on unitary analogues of the set in (1.1), that is, the classical greatest common divisor is replaced by the unitary greatest common divisor. Next, we will define some terminologies involving unitary analogues. A divisor  $d$  of  $n$  is called a unitary divisor of  $n$  if  $\gcd(d, \frac{n}{d}) = 1$ , denoted by  $d \parallel n$ . This was defined by E. Cohen [3] in 1960. Let  $a, b$  be integers with

---

Received May 20, 2022; Accepted August 17, 2022.

2020 *Mathematics Subject Classification.* Primary 11A25.

*Key words and phrases.* Arithmetic function, unitary divisor, Möbius function, Möbius inversion formula.

$b > 0$ . The divisor of  $a$  which is the largest unitary divisor of  $b$  is called the unitary greatest common divisor of  $a$  and  $b$  [3], denoted by  $\gcd_u(a, b)$ , i.e.,

$$\gcd_u(a, b) = \max\{d : d \mid a, \text{ and } d \parallel b\}.$$

It is clear that if  $b$  is a square-free integer, then  $\gcd_u(a, b) = \gcd(a, b)$ . There are several interesting arithmetic functions defined via a unitary divisor, for example, the unitary Euler’s totient function,

$$\bar{\phi}(n) = \sum_{\substack{x \leq n \\ \gcd_u(x, n) = 1}} 1,$$

and the unitary Möbius function,

$$\bar{\mu}(n) = (-1)^{\omega(n)},$$

where  $\omega(n)$  is the number of distinct prime factors of  $n$  with  $\omega(1) = 0$ . A unitary analogue of the Möbius inversion formula [3] states that for an arithmetic functions  $f$ ,

$$(1.3) \quad F(n) = \sum_{d \parallel n} f(d) \iff f(n) = \sum_{d \parallel n} \bar{\mu}(d)F(n/d).$$

Moreover, both  $\bar{\phi}$  and  $\bar{\mu}$  are multiplicative, in other words, if  $\gcd(n, m) = 1$ , then

$$\bar{\phi}(mn) = \bar{\phi}(m)\bar{\phi}(n) \quad \text{and} \quad \bar{\mu}(mn) = \bar{\mu}(m)\bar{\mu}(n).$$

We also have [8]

$$\bar{\phi}(n) = n \prod_{i=1}^k \left(1 - \frac{1}{p_i^{a_i}}\right),$$

where  $n = p_1^{a_1} p_2^{a_2} \cdots p_k^{a_k}$  is the prime factorization and we have [3]

$$\sum_{d \parallel n} \bar{\mu}(d) = I(n),$$

where  $I(1) = 1$  and  $I(n) = 0$  for all positive integers  $n \geq 2$ . For positive integers  $k, m$  and  $n$ , define the following finite sets of positive integers

$$Ru_k^m(n) = \{x^k : 1 \leq x \leq \frac{n}{m}, \gcd_u(x, n) = 1\}$$

and we let

$$Su_k^m(n) = \sum Ru_k^m(n).$$

For our convenience, write  $Ru_k(n)$  and  $Su_k(n)$  for  $Ru_k^1(n)$  and  $Su_k^1(n)$ , respectively. In the next section, we establish the formulae for  $Su_k^m(n)$ .

**2. Main results**

**Lemma 2.1** ([3]). *If  $f$  is a multiplicative function and  $F$  is defined by*

$$F(n) = \sum_{d||n} f(d),$$

*then  $F$  is also multiplicative.*

**Theorem 2.2.** *Let  $n = p_1^{a_1} p_2^{a_2} \cdots p_k^{a_k}$  be the prime factorization of the integer  $n > 1$ . If  $f$  is a multiplicative function that is not identically zero, then*

$$\sum_{d||n} \bar{\mu}(d) f(d) = \prod_{i=1}^k (1 - f(p_i^{a_i})).$$

*Proof.* Since  $f$  is multiplicative, we have  $f(1) = 1$ .

By Lemma 2.1, the function  $F$  defined by  $F(n) = \sum_{d||n} \bar{\mu}(d) f(d)$  is multiplicative; hence,  $F(n)$  is the product of the values  $F(p_i^{a_i})$ .

Consider

$$\begin{aligned} \sum_{d||n} \bar{\mu}(d) f(d) &= \prod_{i=1}^k \sum_{d||p_i^{a_i}} \bar{\mu}(d) f(d) \\ &= \prod_{i=1}^k (\bar{\mu}(1) f(1) + \bar{\mu}(p_i^{a_i}) f(p_i^{a_i})) \\ &= \prod_{i=1}^k (1 - f(p_i^{a_i})). \end{aligned} \quad \square$$

Let  $n = p_1^{a_1} p_2^{a_2} \cdots p_k^{a_k}$  be the prime factorization of the integer  $n > 1$ . For a positive integer  $m$ , we define  $\bar{\psi}_m(n) = \prod_{i=1}^k (1 - p_i^{m a_i})$  and  $\bar{\psi}_m(1) = 1$ .

Note that if  $m = 1$ , we write  $\bar{\psi}$  instead  $\bar{\psi}_1$ .

**Corollary 2.3.** *For any positive integers  $n$  and  $m$ , we have*

$$\begin{aligned} \sum_{d||n} \bar{\mu}(d) d^m &= \bar{\psi}_m(n), \\ \sum_{d||n} \frac{\bar{\mu}(d)}{d} &= \frac{\bar{\phi}(n)}{n}, \\ \sum_{d||n} \bar{\mu}(d) &= I(n). \end{aligned}$$

*Proof.* The results follow immediately from Theorem 2.2. □

Another proof of Corollary 2.3 can be found in [6].

Next, we establish the formula for  $Su_k^m(n)$  in the following theorem.

**Theorem 2.4.** *Let  $k, m$ , and  $n$  be positive integers with  $n \geq m$ . Then*

$$Su_k^m(n) = \sum_{d \parallel n} \bar{\mu}(d) d^k g_k \left( \left\lfloor \frac{n}{dm} \right\rfloor \right).$$

*Proof.* For a positive divisor  $d$  of  $n$ , define

$$Bu_d^m = \{x^k : 1 \leq x \leq \frac{n}{m}, \gcd_u(x, n) = d\}.$$

It is clear that

$$\bigcup_{d \parallel n} Bu_d^m = \left\{ 1^k, 2^k, \dots, \left\lfloor \frac{n}{m} \right\rfloor^k \right\} \text{ and } Bu_{d_1}^m \cap Bu_{d_2}^m = \emptyset \text{ for } d_1 \neq d_2,$$

which imply that

$$(2.1) \quad g_k \left( \left\lfloor \frac{n}{m} \right\rfloor \right) = \sum_{i=1}^{\lfloor n/m \rfloor} i^k = \sum_{d \parallel n} \sum Bu_d^k.$$

Next, we show that

$$(2.2) \quad Bu_d^m = d^k Ru_k^m \left( \frac{n}{d} \right).$$

If  $x^k \in Bu_d^m$ , then  $1 \leq x \leq n/m$  and  $\gcd_u(x, n) = d$ , so  $1 \leq x/d \leq n/dm$  and  $\gcd_u(x/d, n/d) = 1$ . Consequently,  $(x/d)^k \in Ru_k^m(n/d)$  and so  $x^k \in d^k Ru_k^m(n/d)$ . On the other hand, if  $y^k \in Ru_k^m(n/d)$ , then  $1 \leq y \leq n/dm$  and  $\gcd_u(y, n/d) = 1$ . It follows that  $d \leq dy \leq n/m$  and  $\gcd_u(dy, n) = d$ . This shows that  $(dy)^k \in Bu_d^m$  and the desired result follows.

For  $d \parallel n$ , we obtain by using (2.2) that

$$\begin{aligned} \sum Bu_d^m &= d^k \sum Ru_k^m \left( \frac{n}{d} \right) \\ &= d^k Su_k^m \left( \frac{n}{d} \right). \end{aligned}$$

It follows by (2.1) that

$$\begin{aligned} g_k \left( \left\lfloor \frac{n}{m} \right\rfloor \right) &= \sum_{d \parallel n} d^k Su_k^m \left( \frac{n}{d} \right) \\ &= \sum_{d \parallel n} \left( \frac{n}{d} \right)^k Su_k^m(d). \end{aligned}$$

By unitary analogue of the Möbius inversion formula with  $f(n) = Su_k^m(n)/n^k$  and  $F(n) = g_k(\lfloor n/m \rfloor)/n^k$ , we get

$$\frac{Su_k^m(n)}{n^k} = \sum_{d \parallel n} \bar{\mu}(d) \frac{d^k}{n^k} g_k \left( \left\lfloor \frac{n}{dm} \right\rfloor \right).$$

After multiplying by  $n^k$ , we get the desired result. □

To establish the explicit formulae for  $Su_k(n)$  where  $k = 1, 2, 3$ , we utilize the well known fact of  $g_k(n)$  as follows:

$$g_1(n) = \frac{n(n+1)}{2}, \quad g_2(n) = \frac{n(n+1)(2n+1)}{6}, \quad g_3(n) = \frac{n^2(n+1)^2}{4}.$$

**Corollary 2.5.** *We have*

$$\begin{aligned} Su_1(n) &= \frac{n}{2} (\bar{\phi}(n) + I(n)), \\ Su_2(n) &= \frac{n^2}{3} \bar{\phi}(n) + \frac{n^2}{2} I(n) + \frac{n}{6} \bar{\psi}(n), \\ Su_3(n) &= \frac{n^3}{4} \bar{\phi}(n) + \frac{n^3}{2} I(n) + \frac{n^2}{4} \bar{\psi}(n). \end{aligned}$$

*Proof.* By using Theorem 2.4 to calculate  $Su_k(n)$  where  $k = 1, 2, 3$ , we get

$$\begin{aligned} Su_1(n) &= \sum_{d|n} \bar{\mu}(d) d g_1\left(\frac{n}{d}\right) \\ &= \sum_{d|n} \bar{\mu}(d) d \left(\frac{n}{2d}\right) \left(\frac{n}{d} + 1\right) \\ &= \frac{n^2}{2} \sum_{d|n} \frac{\bar{\mu}(d)}{d} + \frac{n}{2} \sum_{d|n} \bar{\mu}(d) \\ &= \frac{n}{2} \bar{\phi}(n) + \frac{n}{2} I(n), \\ Su_2(n) &= \sum_{d|n} \bar{\mu}(d) d^2 g_2\left(\frac{n}{d}\right) \\ &= \sum_{d|n} \bar{\mu}(d) d^2 \left(\frac{n}{6d}\right) \left(\frac{n}{d} + 1\right) \left(\frac{2n}{d} + 1\right) \\ &= \frac{n^3}{3} \sum_{d|n} \frac{\bar{\mu}(d)}{d} + \frac{n^2}{2} \sum_{d|n} \bar{\mu}(d) + \frac{n}{6} \sum_{d|n} \bar{\mu}(d) d \\ &= \frac{n^3}{3} \bar{\phi}(n) + \frac{n^2}{2} I(n) + \frac{n}{6} \bar{\psi}(n), \\ Su_3(n) &= \sum_{d|n} d^3 \bar{\mu}(d) g_3\left(\frac{n}{d}\right) \\ &= \sum_{d|n} d^3 \bar{\mu}(d) \left(\frac{n}{2d}\right)^2 \left(\frac{n}{d} + 1\right)^2 \\ &= \frac{n^4}{4} \sum_{d|n} \frac{\bar{\mu}(d)}{d} + \frac{n^3}{2} \sum_{d|n} \bar{\mu}(d) + \frac{n^2}{4} \sum_{d|n} \bar{\mu}(d) d \\ &= \frac{n^3}{4} \bar{\phi}(n) + \frac{n^3}{2} I(n) + \frac{n^2}{4} \bar{\psi}(n). \quad \square \end{aligned}$$

**Theorem 2.6.** *Let  $a, k$  and  $n$  be positive integers. If  $p^b \parallel n$ , where  $p$  is prime and  $a \leq b$ , then*

$$Su_k^{p^a}(n) = \sum_{d \parallel (n/p^b)} \bar{\mu}(d) d^k \left( g_k \left( \frac{n}{p^a d} \right) - p^{bk} g_k \left( \left\lfloor \frac{n}{p^{a+b} d} \right\rfloor \right) \right).$$

*Proof.* Let  $n = p^b t$ , where  $p \nmid t$ .

By Theorem 2.4, we have

$$\begin{aligned} Su_k^{p^a}(n) &= \sum_{d \parallel n} \bar{\mu}(d) d^k g_k \left( \left\lfloor \frac{n}{d p^a} \right\rfloor \right) \\ &= \sum_{\substack{d \parallel n \\ d \mid t}} \bar{\mu}(d) d^k g_k \left( \left\lfloor \frac{p^{b-a} t}{d} \right\rfloor \right) + \sum_{\substack{d \parallel n \\ d \nmid t}} \bar{\mu}(d) d^k g_k \left( \left\lfloor \frac{p^{b-a} t}{d} \right\rfloor \right) \\ &= \sum_{d \mid t} \bar{\mu}(d) d^k g_k \left( \frac{p^{b-a} t}{d} \right) + \sum_{\substack{d \parallel n \\ d \nmid t}} \bar{\mu}(d) d^k g_k \left( \left\lfloor \frac{p^{b-a} t}{d} \right\rfloor \right). \end{aligned}$$

For  $d \parallel n$ , it is clearly that  $d \nmid t$  if and only if  $p^b \parallel d$ , that is,  $d = p^b e$  for some positive integer  $e$  with  $p \nmid e$ . Then

$$\begin{aligned} \sum_{\substack{d \parallel n \\ d \nmid t}} \bar{\mu}(d) d^k g_k \left( \left\lfloor \frac{p^{b-a} t}{d} \right\rfloor \right) &= \sum_{\substack{d \parallel n \\ p^b \parallel d}} \bar{\mu}(d) d^k g_k \left( \left\lfloor \frac{p^{b-a} t}{d} \right\rfloor \right) \\ &= \sum_{p^b e \parallel p^b t} \bar{\mu}(p^b e) (p^b e)^k g_k \left( \left\lfloor \frac{p^{b-a} t}{p^b e} \right\rfloor \right) \\ &= -p^{bk} \sum_{e \parallel t} \bar{\mu}(e) e^k g_k \left( \left\lfloor \frac{t}{p^a e} \right\rfloor \right). \end{aligned}$$

Finally, we get

$$\begin{aligned} Su_k^{p^a}(n) &= \sum_{d \mid t} \bar{\mu}(d) d^k g_k \left( \frac{p^{b-a} t}{d} \right) - p^{bk} \sum_{d \parallel t} \bar{\mu}(d) d^k g_k \left( \left\lfloor \frac{t}{p^a d} \right\rfloor \right) \\ &= \sum_{d \mid t} \bar{\mu}(d) d^k \left( g_k \left( \frac{p^{b-a} t}{d} \right) - p^{bk} g_k \left( \left\lfloor \frac{t}{p^a d} \right\rfloor \right) \right) \\ &= \sum_{d \parallel (n/p^b)} \bar{\mu}(d) d^k \left( g_k \left( \frac{n}{p^a d} \right) - p^{bk} g_k \left( \left\lfloor \frac{n}{p^{a+b} d} \right\rfloor \right) \right). \quad \square \end{aligned}$$

Next, we will calculate  $Su_k^2(n)$ , where  $k = 1, 2, 3$ . First, we use Theorem 2.4 and Theorem 2.6 to calculate general form of  $Su_k^2(n)$  by consider two cases as

follows:

Case 1:  $n$  is odd. This implies that for any divisor  $d$  of  $n$ ,  $\frac{n}{d}$  is odd and  $\lfloor \frac{n}{2d} \rfloor = \lfloor \frac{n/d}{2} \rfloor = \frac{n/d-1}{2}$ . From Theorem 2.4, we have

$$Su_k^2(n) = \sum_{d||n} \bar{\mu}(d)d^k g_k \left( \lfloor \frac{n}{2d} \rfloor \right) = \sum_{d||n} \bar{\mu}(d)d^k g_k \left( \frac{n/d-1}{2} \right).$$

Case 2:  $n$  is even. There is a positive integer  $b$  such that  $2^b \parallel n$ . This implies that for any divisor  $d$  of  $n/2^b$ ,  $\frac{n}{2^b d}$  is odd and

$$\lfloor \frac{n}{2^{b+1}d} \rfloor = \lfloor \frac{n/2^b d}{2} \rfloor = \frac{n/2^b d - 1}{2}.$$

From Theorem 2.6 with  $a = 1$  and  $p = 2$ , we have

$$Su_k^2(n) = \sum_{d|(n/2^b)} \bar{\mu}(d)d^k \left( g_k \left( \frac{n}{2d} \right) - 2^{bk} g_k \left( \frac{n/2^b d - 1}{2} \right) \right).$$

Let  $p$  be a prime number and let  $n, m$  be positive integers such that  $p^a \parallel n$  for some integer  $a$ . Then we can write  $n = p^a t$  for some positive integer  $t$  such that  $p \nmid t$  and we obtain

$$\begin{aligned} \bar{\phi} \left( \frac{n}{p^a} \right) &= \bar{\phi}(t) = \frac{\bar{\phi}(p^a)\bar{\phi}(t)}{p^a - 1} = \frac{\bar{\phi}(n)}{p^a - 1}, \\ \bar{\psi}_m \left( \frac{n}{p^a} \right) &= \bar{\psi}_m(t) = \frac{\bar{\psi}_m(p^a)\bar{\psi}_m(t)}{1 - p^{ma}} = \frac{\bar{\psi}_m(n)}{1 - p^{ma}}. \end{aligned}$$

**Corollary 2.7.** For  $n \geq 2$ , we have

$$\begin{aligned} Su_1^2(n) &= \begin{cases} \frac{1}{8} (n\bar{\phi}(n) - \bar{\psi}(n)) & \text{if } n \text{ is odd,} \\ \frac{1}{8} \left( n\bar{\phi}(n) + 2nI \left( \frac{n}{2^b} \right) - \frac{2^b \bar{\psi}(n)}{2^b - 1} \right) & \text{if } n \text{ is even,} \end{cases} \\ Su_2^2(n) &= \begin{cases} \frac{1}{24} (n^2 \bar{\phi}(n) - n\bar{\psi}(n)) & \text{if } n \text{ is odd,} \\ \frac{1}{24} \left( n^2 \bar{\phi}(n) + 3n^2 I \left( \frac{n}{2^b} \right) - \left( \frac{2^b + 2}{2^b - 1} \right) n\bar{\psi}(n) \right) & \text{if } n \text{ is even,} \end{cases} \\ Su_3^2(n) &= \begin{cases} \frac{1}{64} (n^3 \bar{\phi}(n) - 2n^2 \bar{\psi}(n) + \bar{\psi}_3(n)) & \text{if } n \text{ is odd,} \\ \frac{1}{64} \left( n^3 \bar{\phi}(n) + 4n^3 I \left( \frac{n}{2^b} \right) - \left( \frac{2^{b+1} + 4}{2^b - 1} \right) n^2 \bar{\psi}(n) + \frac{8^b \bar{\psi}_3(n)}{8^b - 1} \right) & \text{if } n \text{ is even,} \end{cases} \end{aligned}$$

where  $b$  is a positive integer such that  $2^b \parallel n$ .

*Proof.* If  $n$  is odd, then by using Case 1, we have

$$\begin{aligned} Su_1^2(n) &= \sum_{d||n} \bar{\mu}(d)dg_1 \left( \frac{n/d-1}{2} \right) \\ &= \sum_{d||n} \bar{\mu}(d)d \left( \frac{1}{2} \right) \left( \frac{n/d-1}{2} \right) \left( \frac{n/d-1}{2} + 1 \right) \end{aligned}$$

$$\begin{aligned}
&= \frac{1}{8} \sum_{d \parallel n} \bar{\mu}(d) \left( \frac{n^2}{d} - d \right) \\
&= \frac{1}{8} \left( n^2 \sum_{d \parallel n} \frac{\bar{\mu}(d)}{d} - \sum_{d \parallel n} \bar{\mu}(d)d \right) \\
&= \frac{1}{8} (n\bar{\phi}(n) - \bar{\psi}(n)), \\
Su_2^2(n) &= \sum_{d \parallel n} \bar{\mu}(d)d^2 g_2 \left( \frac{n/d-1}{2} \right) \\
&= \sum_{d \parallel n} \bar{\mu}(d)d^2 \left( \frac{1}{6} \right) \left( \frac{n/d-1}{2} \right) \left( \frac{n/d-1}{2} + 1 \right) \left( \frac{2(n/d-1)}{2} + 1 \right) \\
&= \frac{1}{24} \sum_{d \parallel n} \bar{\mu}(d) \left( \frac{n^3}{d} - nd \right) \\
&= \frac{1}{24} \left( n^3 \sum_{d \parallel n} \frac{\bar{\mu}(d)}{d} - n \sum_{d \parallel n} \bar{\mu}(d)d \right) \\
&= \frac{1}{24} (n^2\bar{\phi}(n) - n\bar{\psi}(n)), \\
Su_3^2(n) &= \sum_{d \parallel n} \bar{\mu}(d)d^3 g_3 \left( \frac{n/d-1}{2} \right) \\
&= \sum_{d \parallel n} \bar{\mu}(d)d^3 \left( \frac{1}{4} \right) \left( \frac{n/d-1}{2} \right)^2 \left( \frac{n/d-1}{2} + 1 \right)^2 \\
&= \frac{1}{64} \sum_{d \parallel n} \bar{\mu}(d) \left( \frac{n^4}{d} - 2n^2d + d^3 \right) \\
&= \frac{1}{64} \left( n^4 \sum_{d \parallel n} \frac{\bar{\mu}(d)}{d} - 2n^2 \sum_{d \parallel n} \bar{\mu}(d)d + \sum_{d \parallel n} \bar{\mu}(d)d^3 \right) \\
&= \frac{1}{64} (n^3\bar{\phi}(n) - 2n^2\bar{\psi}(n) + \bar{\psi}_3(n)).
\end{aligned}$$

If  $n$  is even, then by using Case 2, we have

$$\begin{aligned}
Su_1^2(n) &= \sum_{d \parallel (n/2^b)} \bar{\mu}(d)d \left( g_1 \left( \frac{n}{2d} \right) - 2^b g_1 \left( \frac{n/2^b d - 1}{2} \right) \right) \\
&= \sum_{d \parallel (n/2^b)} \bar{\mu}(d)d \left( \frac{1}{8} \left( \frac{n^2}{d^2} + \frac{2n}{d} \right) - \frac{2^b}{8} \left( \frac{n^2}{4^b d^2} - 1 \right) \right)
\end{aligned}$$



$$\begin{aligned}
 &= \frac{2^b}{8} \left( (2^b - 1) \left( \frac{n}{2^b} \right) \bar{\phi} \left( \frac{n}{2^b} \right) + \frac{2n}{2^b} I \left( \frac{n}{2^b} \right) + \bar{\psi} \left( \frac{n}{2^b} \right) \right) \\
 &= \frac{1}{8} \left( n \bar{\phi}(n) + 2n I \left( \frac{n}{2^b} \right) - \frac{2^b \bar{\psi}(n)}{2^b - 1} \right), \\
 Su_2^2(n) &= \sum_{d \parallel (n/2^b)} \bar{\mu}(d) d^2 \left( g_2 \left( \frac{n}{2d} \right) - 4^b g_2 \left( \frac{n/2^b d - 1}{2} \right) \right) \\
 &= \sum_{d \parallel (n/2^b)} \bar{\mu}(d) d^2 \left( \frac{1}{24} \left( \frac{n^3}{d^3} + \frac{3n^2}{d^2} + \frac{2n}{d} \right) - \frac{4^b}{24} \left( \frac{n^3}{8^b d^3} - \frac{n}{2^b d} \right) \right) \\
 &= \frac{4^b}{24} \left( (2^b - 1) \left( \frac{n}{2^b} \right)^2 \bar{\phi} \left( \frac{n}{2^b} \right) + \frac{3n^2}{4^b} I \left( \frac{n}{2^b} \right) \right. \\
 &\quad \left. + (1 + 2^{1-b}) \left( \frac{n}{2^b} \right) \bar{\psi} \left( \frac{n}{2^b} \right) \right) \\
 &= \frac{1}{24} \left( n^2 \bar{\phi}(n) + 3n^2 I \left( \frac{n}{2^b} \right) - \left( \frac{2^b + 2}{2^b - 1} \right) n \bar{\psi}(n) \right), \\
 Su_3^2(n) &= \sum_{d \parallel (n/2^b)} \bar{\mu}(d) d^3 \left( g_3 \left( \frac{n}{2d} \right) - 8^b g_3 \left( \frac{n/2^b d - 1}{2} \right) \right) \\
 &= \sum_{d \parallel (n/2^b)} \bar{\mu}(d) d^3 \left( \frac{1}{64} \left( \frac{n^4}{d^4} + \frac{4n^3}{d^3} + \frac{4n^2}{d^2} \right) - \frac{8^b}{64} \left( \frac{n^4}{16^b d^4} - \frac{2n^2}{4^b d^2} + 1 \right) \right) \\
 &= \frac{8^b}{64} \left( (2^b - 1) \left( \frac{n}{2^b} \right)^3 \bar{\phi} \left( \frac{n}{2^b} \right) + \frac{4n^3}{8^b} I \left( \frac{n}{2^b} \right) \right. \\
 &\quad \left. + (2 + 2^{2-b}) \left( \frac{n}{2^b} \right)^2 \bar{\psi} \left( \frac{n}{2^b} \right) - \bar{\psi}_3 \left( \frac{n}{2^b} \right) \right) \\
 &= \frac{1}{64} \left( n^3 \bar{\phi}(n) + 4n^3 I \left( \frac{n}{2^b} \right) - \left( \frac{2^{b+1} + 4}{2^b - 1} \right) n^2 \bar{\psi}(n) + \frac{8^b \bar{\psi}_3(n)}{8^b - 1} \right). \quad \square
 \end{aligned}$$

### References

- [1] J. D. Baum, *A number-theoretic sum*, Math. Mag. **55** (1982), no. 2, 111–113. <https://doi.org/10.2307/2690056>
- [2] D. M. Burton, *Elementary Number Theory*, McGraw-Hill, New York, 2011.
- [3] E. Cohen, *Arithmetical functions associated with the unitary divisors of an integer*, Math. Z. **74** (1960), 66–80. <https://doi.org/10.1007/BF01180473>
- [4] N. R. Kanasri, P. Pornsurat, and Y. Tongron, *Generalizations of number-theoretic sums*, Commun. Korean Math. Soc. **34** (2019), no. 4, 1105–1115. <https://doi.org/10.4134/CKMS.c180414>
- [5] N. R. Kanasri and Y. Tongron, *A simple proof of generalizations of number-theoretic sums*, Songklanakarin J. Sci. Technol. **44** (2022), no. 2, 450–458. <https://doi.org/10.14456/sjst-psu.2022.62>
- [6] K. Nageswara Rao, *On the unitary analogues of certain totients*, Monatsh. Math. **70** (1966), 149–154. <https://doi.org/10.1007/BF01297269>
- [7] I. Niven, H. S. Zuckerman, and H. L. Montgomery, *An Introduction to the Theory of Numbers*, fifth edition, John Wiley & Sons, Inc., New York, 1991.

- [8] R. Sivaramakrishnan, *Classical theory of arithmetic functions*, Monographs and Textbooks in Pure and Applied Mathematics, 126, Marcel Dekker, Inc., New York, 1989.

TRAIWAT INTARAWONG  
ALGEBRA AND APPLICATIONS RESEARCH UNIT  
DIVISION OF COMPUTATIONAL SCIENCE  
FACULTY OF SCIENCE  
PRINCE OF SONGKLA UNIVERSITY  
HAT YAI, SONGKHLA 90110, THAILAND  
*Email address:* `pootraiwat3@gmail.com`

BOONROD YUTTANAN  
ALGEBRA AND APPLICATIONS RESEARCH UNIT  
DIVISION OF COMPUTATIONAL SCIENCE  
FACULTY OF SCIENCE  
PRINCE OF SONGKLA UNIVERSITY  
HAT YAI, SONGKHLA 90110, THAILAND  
*Email address:* `boonrod.y@psu.ac.th`